CBSE Class 12 Biology (For Blind) Compartment Question Paper 2019 (July 2, Set 4- 57(B))
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e Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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Wﬁ#:
(i) ¥¥7-97 4 AR @S] § Fc7 27 97 130 70 & | @t ye7 A &

(i) TUSATYT eIl G5 3id Tg-3TIT J97 &, I 9% T97 U 3P
H & |

(iii) @UE B H 97 G&I1 6 & 12 Tg-3F19 397 YR I & &, Ycd% Jo4
g1 371 BT & |

(iv) @8 C 4 J97 G&I7 13 & 24 TY-3707 597 FHR Il & &, T J94
A 7P BT E |

(v) @UED H Y37 G&IT 25 T 27 TH-FTHIT 97 &, Ycdh Y97 qiel 37h]
HTE |

(vi) Y¥7-97 § GHT W FI3 labeq 787 8, [0 o 1 37% a7 gt 351 7,
2 37! JIT T I971 4 8 37kl a7 TR I3+ H 3R 5 371 arcd T
AT J591 7 iR TI-I9HeT 100 TT & | I 3% qlienst 1 vg yval &
Gl 19c9] H & &l5 Th J97 57 HAT & |

(vii) STETFIBATER, =71 BT IGT TTH-GRT TF JY1=d dacT g7 6T |

General Instructions :

(1) There are a-total of 27 questions and four sections in the
question paper. All questions are compulsory.

(iz) Section A contains questions number 1 to 5, Very Short Answer
Type Questions of one mark each.

(itz1) Section B contains questions number 6 to 12, Short Answer
Type I Questions of two marks each.

(iv) Section C contains questions number 13 to 24, Short Answer
Type II Questions of three marks each.

(v) Section D contains questions number 25 to 27, Long Answer
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(vi) There is no overall choice in the question paper, however, an
internal choice is provided in two questions of 1 mark, two
questions of 2 marks, four questions of 3 marks and all the
three questions of 5 marks. In these questions, an examinee 1s
to attempt any one of the two given alternatives.

(vii) Whenever necessary, the diagram drawn should be neat and

properly labelled.
Tus A
SECTION A
1. SIS & AR Ao =1 8 ? 1

According to de Vries, what is ‘saltation’ ?

2. 3 YRR b hINIhl [GHTS T 910 qAT ITEEAT ddist SEH IS
TURE (SRIHTEMT) o IS 1 41 a9T T g1 |fed giar 2 | 1

AT

LZplHE R HE Hd g¢ UThY 9 fohH ThR I ey Hehretl Toh
BYTAW & 0 R ®UTaiE g ITErt 8 ? 1

Name the type of cell-division and the stage where pairing and
separation of a pair of homologous chromosomes occur.

OR

How did Griffith, while working with Streptococcus, come to
the conclusion that there 1s some ‘transforming principle’
responsible ?

3. 39 UM 1 9™ fIfgu 9 IR 3191 &1 hIfSTeRI3T 9T STTShHUT &L <dl

2 | SHhI Ush ICTL0] ST | I
AT
ffeiga 9 9 g3 hl Th-Ush 39 95 &1 91 IRy | 1
(a) TUTE (¥ o a1d) 99
(b) hahd
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Name the disease caused when the body attacks its self cells.
Give an example.

OR
Name one 1improved variety of each of the following :
(a) Cattle
(b) Chicken

4.  IIYEET =T 8 2 1

What is Biopiracy ?

5. Tohel T80 & @RI ¥ sieve RN @@ 9 S8 Bd 8, 39l A
e | 1

Name the structure to which the ovules are attached in the
ovary of a flower.

Que B
SECTION B

6.  Fr¥ich (UHE) goUi | gieTierd ST-Hied YTt qoql Shl Teh oTH e
Tsh Bl foffay | 2

3TrET
qHal H 3o o Ad ° HHad 84 diel g U8l @l ol q&7
fIRgU | 37 TaETAl o M Toiigu S 9 3099 Bid & TR i1 2 2

Write an advantage and a disadvantage of cleistogamy as seen
in Viola (pansy) flowers.

OR

Mention the total number of polar bodies released at the end of
oogenesis 1In humans. Write the stages in which they are
produced and why ?

7. YAl hl Th Tl IR § Tgheel! SL.UA.T. i TFTs ol
Uieher fohd Teh TohaT STTAT & 2 2

How is the length of DNA double helix in a typical mammalian

cell calculated ?
57(B) 4
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8. SHIHIT ol Hedl¥ IR =11 A1 a1 & 2 fo= & 39 O & g

bl GUTeHT Toie Bidl & | ey fTeiRau | 2
AT

A.Tg. g 94 A9 TAN o (I8 SIG@ %o HeidrieeT (b HiFE)

T T AT TRAT ? his IR HIOT TARIE | 2

Why 1s Haemophilia referred to as a Mendelian disorder ?
Human females rarely suffer from this disease. Justify.

OR

Why did T.H. Morgan select Drosophila melanogaster (fruit
flies) for his experiments ? Give any four reasons.

9. TYAFE! UTd IS bl Teh AAEId 3N &9 &1 & | 36h
3cqTGl <hl Gl SFTST AT 3k IYANT 1 Iecil <hIfaT | 2

Apiculture has become an established income generating
industry. List its products and mention their uses.

10. Yopld sk YA TATT YGH hidl & | UHl @ HaT3li w1 9H AR
dqT 3eh] Grfehdl oh1 3ZW W hilTU | 2

Nature provides many ecosystem services. Mention two such
services and their significance.

11. hieH =sh aUT BIERRE =sh § fade Hhifu | (5 a1 37t fafgn) 2

Differentiate between carbon cycle and phosphorus cycle.
(Write any two differences)

12. TEIId aATedl H IoRe qiade (helfeifes hradd) o1 ITAN Jguul
JAqH hH H ThE Yk Hgh 8 ? AT hIT | 2

How does the use of catalytic converters help automobiles to
minimize pollution ? Explain.

57(B) 5 P.T.O.
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13.

14.

57(B)

Qus C

SECTION C
feRdl I50 | YUrAIY o Torshrd oh o= =Roml shl SAEAT hIY | 3
3TerET
(a) TUH.I.Zl. hl 999 § Yg9H U Tal UGN o T4 TshiHa T
(saf<h) <hl &I 9 T&dT & ?
(b) Tooi™ BH o HRUI d1¢ H BH oIl Tohral R SeAdISIl ol
3@ hifag | 3

Explain the various steps in development of endosperm 1n a
flower.

OR

(a) What deters the infected persons of STDs from timely
detection and proper treatment ?

(b) Mention any four complications this could lead to, in
later stages.

(a) ~ THEUY T % 9 7 AN bl F-€IehUl ] T8 hd ol STdl
27

(b) Y&SI-H I T579 YR U= graT & 35eh! oty fefa |

(¢) 39 faiy b1 dHn samse | 3

3T

=TRad & Yo TIRgu - 3
(a) HMHI IO H Hici! ShIfRTRTY qAT SAIfST hIThIT

(b) HHE IEhIY] b1 3TUTUSH (UshldH )

(a) When 1s ‘sterilisation’ advised as a method of
contraception ?

(b) Write the procedure how it is achieved in a human male.
(c) State the limitation of this method.
OR

Write the functions of the following :
(a) Sertoli cells and Leydig cells in human testis

(b) Acrosome of human sperm
6
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15. (a) ¥|Md I o @ Hdehl o M fdARgu 91 3q=mm €.u4.u.
IS (S1.TA.T. THRIYTEN) o o8 TohaT SITam 8 |

(b) SI.UA.U. Sg&EYdl 1 3 YT g hd 39 Bldl & ? 3
(a) Name the two tissues in the human body which are used
for DNA fingerprinting.

(b)  What is DNA polymorphism and how does it arise ?

16. Ul § yiterd fofsme smgafsmes ool & @eor Fefafegd 8 |

3Rk TaehRl ohl UETHT dT 3k Tdferse hrur it TTiaT | 3
(a) BRI He, DI M ™, Y § Gid AT 91 @ ATRS €9 ¥
gAT @1 3 |

(b) 3ITcYdid TSI BHET AT fodieh WAk AN ohl IHTE BIdT

2 |
(c) THU ®Y H YU o™ o &1 9871 o1 geq (faehfaa &) |

Given below are the symptoms of certain genetic disorders
observed in humans. Identify the genetic disorders and state
their specific causes.

(a) = Short-statured with small round head, furrowed tongue
and partially open mouth.

(b) Rudimentary ovaries including lack of secondary sexual
characters.

(c) Overall masculine development with development of
breast.

17. 5.%/c773 o Fa4- Hiegq (S@l 98 dig L @I 8) H 9 odeial Sl
Il B, A % YEAh  (AB-UUA) H B aTel qREeted
Ty | 3

Write the events that would follow i1n a /lac operon of
E. colt when lactose 1s added to the culture medium where 1t 1s

growing.
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18. @fsha gfawen den ffssha yfawen # fave hifse | 3

HAAT

HHTTRgd Tcdes Sodisha YT o Eid ST qAT HHe Hedl § Ieh]
‘H@Tﬂ%@ﬂ: 3
(a) A

(b) EIhIES

(c) TEFARAINA

Differentiate between active and passive immunity.

OR

Write the source organisms of each one of the following
bioactive molecules and their role for human welfare :

(a) Statin
(b) Streptokinase
(c) Cyelosporin A

19. YUT A0 dehrileh (MOET) hl GUTE U371 s YUR o hRIsHH % &9 |
F YL THT S ? 3H TshH o (19 TN 1 3eei@ i | 3

Why 1s MOET program practised on cattle 7 Mention the steps
involved 1n earrying out the process.

20. YNYNeh IS99 Ugid hl 3T9& IANTd- IS99 bl I=dT =1 & STl
2 ? Ueh 3CTEL0T <hl TEHAT ¥ UshH hl JU <hilIU | 3

Why 1s mutation breeding preferred to conventional breeding ?
Describe the process with an example.

21. SAETY] IR I R TR fpH TR AT 1 8 2 AT i | 3

Why and how are bacterial cells made competent ? Explain.

57(B) 8
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22. (a) SLUAU, U] I TR TAAT W e & T Tk TSAEH <l
I TTRgU |
(b) U YR &4 I SL.UA.U. @Sl (Ihal) @l Tae & hl
dehdieh ohl ATH TIRGUE qT SITEAT HI hiog | 3

(a) Name the enzyme that is used for cutting the DNA at
specific points.

(b) Name and explain the technique used for separating the
DNA fragments thus formed.

23. 1.2l UM & UIY I hiZ dighl (T AAH) & Tl & S 98¢

T G HYH hl B ohl 95 R ed & | GHATSU foh Aqutenfieh! <hi
Edl 9 Ig e Yh I9d Bl TRl | 3

Bt cotton plants are resistant to i1nsect pests (boll worms)
which destroy the cotton crop on a large scale. Explain how 1t
has been made possible with the help of biotechnology.

24, (a) » FAhAL ST=qAT qAT AW IR 1] shl “G&dl ol § W@ T

8, I ? ST i |
(b) oA B Ioft fotet &t fierd 2 | e i | 3
HAAT
(a) =ETCRA Jhg HISA qAT GHR d3 (ATNIECh) Jhg Higd H Ta4g
hINTT |
(b) QM WISl H § hH-HT Hisd IATAYU 8 I FAT ? 3

(a) Why are majority of animals and almost all plants
categorised as “conformers” ? Explain.

(b) Small animals are rarely found on higher altitudes. Give
reasons.

OR

(a) Differentiate between exponential growth and logistic
ogrowth models.

(b) Which one of the two models is realistic and why ?
57(B) 9 P.T.O.
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Qus D
SECTION D

25. (a) YUITRUN o THHIOT H STTAfSed hIfRRIST &1 910 U YshH {IRgU |
(b)  ATERUT ki Toreqd HLEHT U {A9= WHT ok ShiAl <kl FUM ShITTT |
1+4=5

SO
=1 | 3Ardd sk b SRA Tty qfteredrstt § 9y W[ ug srenrd
BIHI <hl HehT shl AT HITT | 5

(a) Name the cells and the process 1nvolved 1n the
production of pollen grains.

(b) Describe the detailed structure and functions of the
different parts of a pollen grain.

OR

Explain the role of pituitary and ovarian hormones in various
events during a menstrual cycle in the human body.

26. CI.UA.U, 9T [HL B1.U4.T. Yiraisl fopd e d ™ shidr 8 2 S1.UA.T,

Yfcrepld U5k =T aUid <hifele AT 4" €1.UA.T. 3103l 6l g TShi |

AT il 2 | 5
HAAT

(a) 3fad 3ISEWN hl G8=GT @ HSITd IR %Y 3 H 3Tdt W&

<hINTT |
(b) ST 7 3Tehail TaTehtur hl AT fohd TR <hi ? 3+2=5

In which direction does DNA-dependent DNA polymerase
function ? Describe the process of DNA replication that
progresses 1n the two strands of long DNA molecules.

OR

(a) Differentiate between homologous and analogous organs
with the help of suitable examples.

(b) How did Darwin explain adaptive radiation ?

57(B) 10
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27,

57(B)

(a)
(b)

(c)

(a)

(b)

(a)

(b)

(c)

(a)

(b)

Tc] dTfed Wl H IUREdd Y@ F9eehl shl Al SH1ET |
o] dlfgd A H IUTEYd I AU o eehl oh To@sH 1 I
Gid 9 =T 9 92717 ?

feRdt STt |1d oh1 f1.371.€1." Tohwrehl F=eh B ? 1+3+1=5

HAAT

OS] U9 TEEl o YREAN 999 o Ay H Ha-fgh™ i
ST shITWT |

QST H 3ehl St Sietl o 3TEY Toehidd =R TRy 1%
feTiaT | 3+2=5

[.ist the major components present 1n the domestic
sewage.

How would each category of the components present in
the domestic sewage attect the water body in which 1t will

be discharged ?
What is ‘BOD’ of a water body indicative of ?
OR

Explain the term co-evolution with respect to
the 1nter-relationship between predator and parasite.

Give four special adaptations which parasites have
evolved 1n accordance with their lifestyles.
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